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PROJECT MATHS

Text € Tests

Leaving Certificate
.3

1) Patterns and Sequences

Section 10.2 The nth term of a sequence

The nth term of a sequence is 4n — 3.
Write down the first five terms of the sequence.




Find the nth term of the sequence 3,7,11,15,....

Find the nth term and the 20th term of the sequence 4,7,10, 13,16, ...

Exercise 10.2 )
_ /

1. Use each of the following rules to write down the first three terms of the sequence:
(i) n+4for n=1,2,3 (i) 2n+1for n=1,2,3
(iii)in+3for n=123= (iv) 3n—2for n=1,2,3.

o= 2nal Tz 3n-2

Ti=a(04 =3 Tie30)-2= 19,
T:202)41:=5 Ta:=3(2)-2: 4y
T:2(3)41=3 T:-303)-2-7




\  Exercise 10.2
(- "

2. In each of the following sequences the nth term, T,,, is given.
Write down the first four terms of each sequence:
(i) T,=3n (i) T,=2n+3 (i) T,=3n-2

\  Exercise 10.2
(- "

3. IfT,=3n—4,find T, T;and Ty,
Ti=30)-u=-1
1'3:3(3)"" =5
To=3(10)-4=26

\  Exercise 10.2
(- "

4. Write down the first three terms of each of these sequences where the nth term

is given.
@ T,=n? (i) T,=n*+3 (i) T,=2n*+1

Ti=C)*=)
T1:(2 )l =)
1 =(J)l-' 4




. Exercise10.2

5. If T, = 2n" — 1, wark out
[ORN i) T {iiy T3 {ivh Tyne

22051 T=20)-) Tes)7)
:' :-:’ Jqq

. Exercise10.2

6, If7,—2n — 6. showthatT + T, —0.
= 2()-¢ “Ts=2(5)-C
:-L‘ :'f'q

NM+Ts=0
“44+4=0

. Exercise10.2

Tio= 260)"I

=1q9

@ when guen a patern and asked to fund
the ' Horm rule (Tn)

Method .
1) Fuwd He fust reem (a)
2) Fwd the commen ohiferemce (d)
3; Sub He values for a and d inte Hhae formaula for T

u) Fomula for Tin= a+ (ha)d Pg 22 log tables,
Egj_) Fud He n' tom rule for the patiern
" T B T ‘rs
36 19,4, Il
A A
z0=3 5
leatall }wamlo
Coammon oliHevance ol=+2 fovmula

=a+ (na)d

=3 +(n-1)2
~muinply

7. Find the next two terms and the nth term of each of the following sequences: _ )
) 3,57,9,11,... i) 4,7,10,13, ... Taz3+2n=2  Add like terms
(i) 2,6,10,14,18, ... (v} 5,913,717, ... ,r
n=2n+l

. Exercise10.2

E,z) Find the n*™ tevem ruwle of He pattearn
T =" B Ty

0,03
13 +3 43

Ti (st term) a2 =Yy _
) Sub nte Fomala Tn: a4 Cn-1)d
Commm difference D d=3

Mm=4+Cn-1)3 .
Wm:nl‘flffﬂ

Mh=Y+3n-3

M=3n+] n" jerm rule.

g 250 @3 Ciii) » Civ)

8. Find the ath term and the 20th term of each of these sequences:
i) 2,5811,... (i) 6,8.10,12, ...
{iiiy 4,9,14,19, ... livl 2,7,12,17, ...




| Exercise10.2 Pg 50 @3 C'Tl') i (!‘V)

8. Find the nth term and the 20th term of each of these sequences:
i 2,5811,... {i] 6,810,112, ...
{iiiy 4,9,14,19, ... livl 2,7,12,17, ...

' Exercise10.2 |
™ —

9. Forthesequence 6,11,16,21, ...
find (i) T; (i) Ta (i) Ty

' Exercise10.2 |
™ —

10. The nth term of a sequence isgiven by T, —3n — 4,
Which term of the sequence is 237

[Hint:Let 3n 4 =23]




Answers 10.2
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1.
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11,15
6,9 12
2
4
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(i) 7
;2n + 1
;4n — 2
n—1,T,y =59
n+4,T,, =44
n—1,T,,=99
n—3,T, =97

(ii) 101

_
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5
7
3
5
1
1
1
2
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, 9 (i) 4,7,12

(iii) 49
(i) 16,19;3n + 1
(iv) 21,25;4n + 1

.7 (i) 3,57
(iv) 1,4,7
(i) 5,7,9, 11

(i) 1,4,7,10

(i) 3,9, 19
(iv) 199

(i) 501




